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Alphabctical order: Arranging words in alphabetical order implies 'to arrange them in the order as they
appear in a dictionary', i.e., as per the order in which the beginning letters of these words > appear in the English
alphabet.
Solved examples _
If the following five words are arranged in alphabetical order, which word will come in third place?
(1) Draw 5 {2) Read . {3)Play {4) Back
Arranging the words in alphabetical order, we have: Back, D_raw, Play, Read, Want.
Clearly, the word 'Play’ comes in the middle. So, the answer is (3).

Which of the following wdrds_ will come fourth in the English dictionary?

- {L}False {2} Follow  (3) Faithfully (4) Fallible -~

The given words can be arranged in the alphabetical order as :

Faithfully, Fallitle, False, Folow, Foo‘

Sol.

Sol.

- would be the third to the right of the ufth letter from the right? R e

Clearly, Follmy comes fourth So the answer is (2) N
How many such letters.are there in the word BACKLASH each of which is as far away from the begmnmg of the
‘word asitis from the beginning of the English alphabet? .

(1) Three _ (2) One - {31 Two . (4) None g
Clearly, C and H are respectlvely the third and eighth letters in the word BACKLASH as well as in the Enghsh
alphabet. Thus, there are two such letters, .

NS

Hence, the answer is (3).
If the letiersin the word POWERFUL are rearranged as they appear in the Enghsh alphabet the posmon of how

" miany letters will remainrunichanged after the fearrangement? -

(1) None {2 Ong (3) Two ; {4) Three
Sequence in the word: ‘ - POWERFU L }
Sequence in English alphabet: EF L OPRUW

Clearly, the posztlon of letter U remains anhanged Hence, the answeris{2). "~

In this type of questions, generally a letter-series is given, be it the English alphabets from Ato Z ora ranqomxsed
sequence of letters. The candidate is then required to trace the letters satisfying certain given- condxtions as
regards heif position in the given sequence cr the sequence obtained by performing certain given operations on

the gwen sequence,

_ Answer the given questxons basec on the following English alphabet:

v ABCDEFGHIJKLMNOPQRS}UVWXYZ
Which letter is fifth tb the right of the eighteenth letter from your r'ght'? o - .
mc , @b .  BE @y
If all the vowels are removed from the asphabet which letter will be the saventh to the nght of the flfth letter
from the left? 4 - , : . : _
wL @M (BN o wp

if every altemate letter, starting with - A, is removed from the alﬂnab; t, which letter amiong the remaining letters

1) X Qv (3L ' ) J



" Sol.

AagiBarewnttenasBandA CandDasDandC EandFasFandEandsoontdl‘heendo{thealphabet

_ what will be the position of M from your right?

(1) 11th (2y12th ’ (3) 13th (4) 14th
If the above alphabet is arranged in reverse order, whtch letter will be twelfth to the left of the sixteenth letter

fromyourleft? Ry ;
(1)D 7;(2)V~ | @w @x

‘Count'mg from the right end of the given alphabet-series, i.e., from Z, the eighteenth letter is I. Counting from

I towards the right, the fifth letter is N.

So, the answer is (4).

" Remioving all the vowels, i.e., A, E, I, O, U, we obtain the following letter-series:

BCDFGHJKLMNPQRSTVWXYZ

Counting from the left in the above ‘;enes, i.e., from B, the fifth letter is G. Counting from G towards right, the )

seventh letter is P.

So, theanswer is (4). ——e—e e L
Leavingout A, C,E, G, ..... , W, Y, we obtain the following letter-series: ’ o
BDFHJLNPRTVXZ '

Counting from the right in the above letter-series, the ﬁfth letter is R. Counting from R, the thirdletter to the - -

right is X. So, the answer is{1). .

The new letter- series obtamed is
BADC!—EHGJILKNMPORQTSVUXWZY
Counting from Y in the above series, M is the 13th letter. So, the answer is (3},

- We obiain the following letter-series un reversing the order.of the alphabets: .. ... .. ... _.

B ZYXWVUTSRQPONMLKJIHGFEDCBA

Counting from left, i.e., from Zin the above series, the sixteenth letter is K. Counting from K towards left, the

twelfth letter is W. So, the answer is (3).

|
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EXERCISE

Direction {Q.1 to Q.4) : In each of the following questions, arrange the given words in the sequence in which they
occur in the dictionary and then choose the correct sequence. -

4. Selfish

1. 1. Select 2. Seldom 3. Send

5. Seiler ,

(11,2,4,5,3 (2)2,1,5,4,3 32/1,4,5,3 (4)2,54,1,3
2. 1. Protein 2. Problem 3. Proverb 4. Property .

5. Project - A

11,2,3,4,5 2)2,1,4,3,5 MBA, 1,3. 4)3,4,5,2,1
3. 1. Pestle -2. Pestilence 3. Pester 4. Pest

5. Pessimist o

W5, 4,321 (2)4,31,5,2 (3)3,4,2,5,1 (4/4,5,1,2,3
4. 1. Page 2. Pagan 3. Palisade 4. Pageant

5. Palate A '

T (11,4,2,3,5

22,4,1,35

3)1,4,2,5,3

w1453

Direction (Q.5 to Q.7) : Arrange the given words as in a dictionary and tick the one that comes fourth.

5. (1) Fault {2) Fantasy (3) Fascinate {4) Fansticism
6. (1) Harridan " {2)Hamess (3) Harrow {4) Harmony
7. {1) Warring ( )Wavmg {3) Watching {4) Wanting
8.  Arrange the given words in alphabeﬁcal order and tick the one that comes last.

(1) plane . (2) plain .LB)élayer (4) place

9.  Which letter should be fourth to the right of twelfth letter from the right if the second half of the alphabet series
is reversed ? ) ) ) ) o , '
1nd . - {(JK (3L (4)M

10. Ifit is possible to make a meaningful word with the second, the fourth, the fifth, the seventh and the eleventh
letters of the word DISTRIBUTION which of the following will be the third leﬁer of that werd ? If no such word
can be formed give X as answer. -

10 @1 B @x

11. If the alphabets were written in the reverse order, which letter will be the fifth letter to the right of the fourteenth

letter from the left ) _ L
(DR @1 (3)S . @H
12. Which letter will corrte exactly between the 10* letter from your left and the 7‘h letter from your right. Without
changing any order in the original from the alphabet" : : .
, (ON @P . .. o - L @Q-
"13. it is possible to form a word with the first, fourth, seventh and eleventh letters in the word §UPERFLUOUS
write the seoond letter of that word. Otherwlse X fs the answer:’ ?. -
(s - - QE (3) - 4 X
14. Inthe roliomng a phabet seqorrd haif is wntten first and. then the first half is arranged in reverse order Then »
* which of the following will be the 5% letter to the left of 16% letter from the nght” ' S

ns - (?-)T ' (3P 3esue T @F . -
15. Iflst& 7"‘ g 8 3 & gh [etters are mterchangoci in the word TRAN%%?E%Q{{ What wxli be the fxftn letter
to theright of 9th letter from the right? - L R

g . @Lr- gr  ws
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22.

23
.24,

25,

e 2)D - @QE

Trom ghe word 'CARRIAGE', how many mdependent words can be made-sithout changmg the order of the -

letter only once.
(1) One , @Two * (3) Three (4) Four

If the first and second letters in the word 'EXCELLECE' are interchanged, in the sameway third and fourth
letters, the fifth and the sixth letters and so on. Which letter would be the sixth when counted from the right?
4L

From the word 'POSTSCRIPT', how many independent words can be made w1thout changmg the order of the
letters and using each letters only once? .
(11 22 (3)3 ‘ (4)4

Which letter will be 13" to the left of 111 letter from the right in the following series of letters?

WQETRYIPUOAGSDFHLKJBCXMVZN
@Y - @F BE @y
Which of the following words cannot be formed with the help of the letters of EXPERIENCE?
(1) PRICE - {2) EXERCISE QIRICE .- {4) NICE

If you count 21 letters in the English a phabet from the end and 20 letters from the begmnmg Which letter will

" appear exactly in the middle of the sequence thus formed? . A
(DN~ 2)M 3L O R
Which letter is the 9® to the nght of the 15% letter from your left in the following alphabet senes?

I)U : ' @V o @x . @w

.If you count 17 letters in the English alphabet from the end and 14 letters from the begining, Which letter wxll'

~ appear exactly in the middle of the sequence thus formed?

(K ‘@@L @AM @N

How many pair of letters are there in .th_e~wo:r<_.j ‘IDEAL’ which have as _rr_lany ;as.l.etterg between themn in the word
as in the alphabet? 7 o : o T T
(1) One (2) Two ' (3) Three
How many pair of letters are there in the word ‘HORIZON® which have as many letters between them in the

(4 Four

word as in the alphabet?

MOe ~ @Two " (3) Thres . (4) More than three

: = F 9 Wy 31y HENES \V.(J'Lb !
S % Tiv L 3wl m&% . R ST LUV

Cosr
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